S T = 5my
_.__(3 _ _\1,<< G
4

. X = L by

>< _ <
T7TITT 7 E7L eguabone , =
A [9LN _L , PR, e 0 F
Jb (2 3y T og = U7 on el
v 9 9& COOV\S"WZW\JC> f@:rq/
2L © L 240 _
ég; e 'YV’tj ) :’; 5% ) — ’Y‘/I‘U
>Z 2 A .
= I C(x— o 1N o ~
2y = Mg - K ZD ) = NG N

m'g g — K (x— Q—LCO—Q) — 0

b Ry = L ) ,ﬁ\

COV\,WVL“T\OW&/Q/ wuethod I:i_\]
‘O(j Ad/ mﬁ&&kaS"x\ /

—

ZF = YV\J

~L(5—><\> —-m3——1’<(fjﬁy) = th)o

Emg#bg’j# I/Cj — bx4+Kx ——m; j




L put




|

R K -
ﬁgﬁ % |
\\_{'b-— «//Q%H < /Qé,\'z
TL/ j 7—

Fhtes T < S (14)T (24, ¢ -boh

ﬁlz W= méﬁ@—c‘ﬁg‘\ 4—((—@37))
T JZK( %il ’_%:9}—132

L
(VL g‘
/e-j(ws/, am. e - "l
—_— = ° A S e
2
T - z
ey M?Q( g +smg27 _\9\? K C %\,ﬁ{}
>t

P e, e a
|— e'jr" M/ (ﬁ—l ’]‘iLN"k’—é—k Cﬁ(f—j_g_\ J‘Qmﬁy\(ir(— j"Lw = Q

S (A ?-Ff__q_




